MEOREE fRE L ER

() 240cm? (2) 66rcm? (3) 132cm?

1) EE#E %x 6x8=24 (cm?)

RIEEIX 8x8+8%x6+8%x10=192 (cm?
LoT, REHEIE 24x2+192=240 (cm?)

2 EEMT 7x3%2=97(cm?
REDORFFHOEORE Z1I 2rX3=6x (cm) THE1 b,
BIEEIX 8X6xr=487 (cm?)

XoT, REHEIX 97X24 487 =667 (cm?

(3) EmEHIT 6X6=36(cm?

1 > OREOEREIE %x 6x8=24 (cm?) THBMD,

RIEEIX 24%x4=96 (cm?
XoT, REMIX 36+96=132(cm?

(1) 72r cm? (2) 1087 cm? (3) 180°
(1) FEOR S EROWDE ST 2rX6=127 (cm)

Lo T, HEEX %x 127X 12="72x (cm?

2 EmEHEIT 7x6°=36r (cm?
koT, HREMEIT 367+ 72r=1087 (cm?)
3) BIXFEOHFLADOKEZIRaLTDHE

P e
1:X12X360 127

a=180
£oT, FLAT 180°



